Match the following:
1) How old are you? I'm four.

1) How old are you? I'm seven.
1) How old are you? I'm ten.
1) How old are you? I'm three.
1) How old are you? I'm six.
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Complete:
H w o d a_e Y..u
I m t n ye_rs o
fo r se__en n_ne f_ve
t o th_ee si cam |
one:= five= tenz twoz= four=
nine= eight= eleven= three= twelvez
Write:(camel - 8 - 12 - 6 - 3 - How ol Py
= =
M ¢, twelve
[=
Answer: Tone 6 s
1.A: How old are you? B: ==ecececcmccccaas
A e e 2 B: I'm nine years old. 2 two 7 seven

3.A: How old is he?
4.A: How old is she?
5.A! ceeemmmcnnnaan ?  B: He is eight years old.
? B: She is eleven years.5 five () ten

Match the picture with the word: ‘

1) circle

2) star =

4) diamond

5) triangle *

6) rectangle '
the missing letter:

squa_ e cir__le rec  angle tri ngle

st r dia_ond sq_are c_ rcle s_ar

fria_ gle rectang e digmo_d sha__es

Match: [rectangle [square | friangle |diamond | star |circle
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1) What's this shape? (13- EEE R
2) What's this shape? s Q =emsneeen * A - ;'
e Y
3) What's this shape?  If's @ ====s===- |:| English®
Langu ge
4) What's this shape? [ §-3- EEEEEEEry O LEARNERS
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This is a flower.
| This is.an apple. That is an apple.

.
713 Lo What is this? It's o cote—s “

Thatis a bus.

1z L What is that? It is a car.
Choose the correct answer:
1. This (zm — iz — zre) an apple.
3. (Thiz — Those — Thesa) iz a hook.
5. This is (2 jacket — jackats).
7. (This — That — Thess) i the moon.
9. What iz (this — thaze — thosa)?
11. What (am — iz — are) ¢his?
13. What iz (that — these — thosa)?

o
2. That (2m — iz — 2re) 2 notebook.
4. (These — Those — That) iz a car.
6. That i (= glzse — glasses).

8. What iz (thesa — that — those)?
10. What (2m — iz — zra) thae?

12. What iz (these — thiz — thoze) T
14. (White — What — While) iz thiz?

15. This —-— 2 book. 16. That —-—-- an orange.
17. is a star. 18, ——- — iz my pen.
19. This iz 8 ——o-—-. 20. That iz ap ———wo-—- . .

Fill in with: [his That) ¢ >

e is a bag. - iR =

2- iz chair. Aiﬁ
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4- is @ window. Aﬁm

Unit 1

IOW Old are your?

How old are you?

-I'm ten years old.
lone 2two 3three 4four Sfive 6six
7seven 8 eight 9nine 10ten 11 eleven 12 twelve

Match the Numbers:
s SRR

[ two (—)( six (—) one (—) ten (—) seven(—)
( three (—)( five \—vju\' nine (— | four (—) eight (—)
Write & number-

()2 —=2)(7 — )1 }—— ) (10— )(4
5 —)N9 ) —)3 —)(8)—)1— )p2—)

Fish m

hat 5 je.‘ ».“E e |

goat &ﬁ

o ink
What's this shape?
circle square
» star
-]
=
£
“ ]
diamond triangle  rectangle

Match the picture with the word:

1) fish

2) goat .
3) hat

b =
5 jor <
Supply: f.sh  go.f in ha_  jt gt fih

Agreencicie A yelow square A PNk reciongie A bue friangie
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An oronoe ICUGre A purpie rectangle A red frandge A Down crcie

Write the small
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The Teacher of Generations
Best of Luck
for You All

sing With me &)

Ten Little Camels

One little, two little, three little camels.
Four little, five little, six little camels.
Seven little, eight little, nine little camels.
Ten little camels here.
Ten little camels here.

11,1 2,2,2 3,3.3 4.4.4 5,5,5
6,6,6 7,7.7 8,8,8 9,9.9 10,1010
Match

B AP
Do
SN

Byl By aly bah Nay
Y
B

How many camels can you see?
| can see one camel.

How many camels can you see?
| can see four camels.

How many camels can you see?
| can see seven camels.

How many camels can you see?
| can see two camels.

How many camels can you see?
| can see three camels.

I'm ten years o

Write: (,/./7) r
1- How old are you t‘#‘\-ﬁi
m 'y s

2- One little(_wo little, three little camels()

b

3- What shape is this? It's a (star - circle)
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Complete the numbers: | T '1
! 5
T
Circla the corract shapas

eiols |:|
Rectangie |5/

Squnre Q?

0 = ¥ w [ []
Eugu%mf" diamond | | |
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